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ll semester 3 Years LL.B. Examination, March 2022
LABOUR LAW - I

Duration : 3 Hours Max. Marks : 80

Instructions : 1 . Answer any five questions from group (a) each question

carries 10 marks.
2. Answer any five questions from group (b) each question

carries 06 marks.
3. Answers should be written either in English or Kannada

completelY.

Q. No. 1. a) Explain factors responsible for departure of old theory

master and servant.
oJ:tsdod dcdg dedd tuaarod Ortrardel aadeoaad

eroddd$ ado$.

Marks : 10

Marks : 10

Marks : 6

Marks : 10

Marks : 6

Q. No. 1. b) Due to internal misunderstanding between Trade Union

members, they wants to withdraw and cancel the Trade

Union Registration, can they do so ? Advice' Marks : 6

Foarrd dodd ddd.,d ud dd),, .g$bdgdd9od roillrd
dodidddc do{id Jbocndedo$d} bodd* dddJ 9d.e
dnafodow .azijfdood. er oeg dndw erdardadoJ:e ?

deld 0e@.

e. No. 2. a) Define Trade Union. Examine the immunities available to

Registered Trade Unions.
odcrd xio{rr{ddcn d"dp3dptu?. doooaourd uaacrd
do$deri turbd eoaosrgr{dd} adorr.

Q. No. 2. b) l.L.O. Conventions relating to Trade unions.

rodurd dodrrlgri douopld l.L.o. id>deddsb'

Q. No. 3. a) Define 'lndustry' and whether Hospital, University are

Industries ? Discuss.
eluod>o$d> aa.an 0t o $d)
*d*rdgo& *8o$udrde ?-o

adoaoarelodrrlst)

Q. No. 3. b) Procedure followed u/s 10-A Industrial Dispute Act, 1947.

de.ro 10-A Edognd amdrld cQoobdb, 1947d ega

dgo3Jrldc

"3 $*
dzsrno.
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Q. No. 4. a)

Q. No. 4. b)

Q. No. 5. a)

Q. No. 5. b)

Q. No. 6. a)

Describe how Labou, Co,i, Industrial Tribunal and
National rribunal adjudicate the industrial disputes
referred by the Government.

1>?t1 an olnoo$, Eee,11 anooJnercd: dt * oDgeos

Td"$11 . oonod,nerobrldc ddad-d weJ_eal*oi edrignA
eElEdrlddl deri CIeorooxb$d oorudd1 o*on.

Domestic enquiry.
erodod azadd.

Define strike and what are the provisions rerating
prohibition of strike.

P.4?*q .*.rqp*u abdJ dt qd ouroddrl douofrdg
CIo$abrleoddl t
Ramya and co. is pubric utirity service Industry cailed
for strike during pendency of conciriation proceedings
workmen pleaded that strike was provoked by employer,
decide.

ddrd ab{ dodOoll r,ocb nadres&d wdoilf deaa

T%af 
o:nfl*o roatrdd aarrrd doOadradd .tzmdmn

{od^do;{Afl 
roarrdcb e{d-rydoeaddc db* tuqAa

dnoedd gie^loeddoood qgdoqJunob$ ooab rrturdd)
ao6xbgd, Sednr&$.

Explain the provisions relating to closure under Industrial
Dispute Act, 1947.

rililil||iltililtililtilflill

Marks : 10

Marks : 6

Marks : 10

Marks : 6

Marks : 10

|ffilttiltilililltilililt,

Q. No. 7. a)

Q. No. 7. b)

Q. No. 10. a)

-3-

state the procedure of employees Insurance claims
under Employees State Insurance Act, 194g.
dBddd 66,, edJD ereOo$dl, 1g4gd er6od:O_ nBddd
.b*E *?drlrld dgo$dddl ,ee&o.

Partial and total disablements under Employee,s
Compensation Act, 1 g23.

wdorenrld d{ doaad ereOobab, lg1g eaodl* qnrlde
aJrdJ dpear ego$d.

Q. No. 8. a) Explain the various authorities provided under E.S.l. Act, 1g4g.
sddd oaq adn ege0o$*, 1948d d-d dzsder,o"ld:d
eed 6go6Ddrlddl ado:r.

Q. No. 8. b) Employees State Insurance Courts.
oerrdd oaq adn oarolneloJ:dsb.

Q. No. 9. a) Briefly explain the various provisions relating to safety
measures under Factories Act, 194g.
aanrddd eeeo$db, 1g4gd u6od:O_ xbdd_dri douofrdul
oad wduof,dddl doSaoR odo&.

Q. No. e. b) Employment of Young persons under Factories Act, 194g.
1948 uaanrddd ceoo$ab eraodrO_ eagd obddd
ded>d.

Define wages. Explain the objectives of payment wages
Act, 1936.

deddddl aade,Dd0rro. dedd docoolr ce&o$ub, 1g36d
wdedrlddl odo*.

Q. No. 10. b) canteen and creches under Factories Act, 1g4g.
1948 roanrddd se0o$dbdoF erud-Dd ddrlsbg$aioeloa dodadsb.
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Marks : 10

Marks : 6

Marks : 10

Marks : 6

Marks : 10

Marks : 6

Marks : 10

Marks : 6

Edognd aandrld ere0oXrab,
douofrdul Oo$abdddl ado,rr.

1947d d-d dtadc,.ad

Q. No. 6. b) A workman was terminated by employer for misconduct.
Being workman he raised a dispute under r.D. Act, 1g4z
as it amounts retrenchment. Decide by giving reason. Marks : 6
ujcdrdd eraorro- roarrdddl dnoed$ dsdaod dm*aded. erddr Edognd abartg eQeo$*, 1g47d
era de-Dds' oocb desbqd. .* gobol, deaadende ?
rodeod&d .gednr&x,

drdJ


